Recopie les calculs en colonnes, puis
effectue les opérations,

2 )

507 + 34'678 + 372 + 4'007 =

45320 x 5 =
56'902 - 7'777 =

4'789 - 678 = 45'710 x 3 =

67'983 + 457 = (564 + 237 )- (b6 +342) +(948 xH) =
v v v

80'097 - 408 =

678 x 2 =

(3876 + 234 )- (89 +6) + (403 x 5) =
v v v

92'000 - 56 =

(): 713'240 - 987 =
/ /

p
G NED
421+ 789 =
8'943 + 6'854 - ceer 999
‘78 - 39 - 8'453 - 3'698 -
0654 - 704 - 25'871 - 398
765 + 234 + 67 + 8+ 302 +7'450 =
67704 - 968 = 887'513 - 7'934 =
(Z )
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Recopie les calculs en colonnes, puis
effectue les opérations,

(o )
507 + 34'678 + 372 + 4'007 3 39'564 |

226'600

45320 x5 =

56'902 - 7'777 = 49'125
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